
ROTARY MOWER PARTS VENDOR ITEM # DAYO PART # RETAIL 

SERIAL NUMBER NEEDED FOR ALL ROTARY MOWER & SLASHER MOWERS...

Pan Assembly PAN-ASSBY *does not include blades $369.53

Blades     (5') RM5.TT5/BLADETT5 BLADE.RM5      (22.5") $61.02

*INDIVIDUAL BLADE/ NO HARDWARE

5' RM Blade Kit BLADE.RM5-KT $170.34

*INCLUDES BLADES & BOLTS AND HARDWARE

Blades     (6') RM6.TT6 BLADE.RM6      (28.5") $70.60

*INDIVIDUAL BLADE/ NO HARDWARE

6' RM Blade Kit BLADE.RM6-KT $191.65

*INCLUDES BLADES & BOLTS AND HARDWARE

Blades     (7') RM7.TT7 BLADE.RM7       (33.5") $83.34

*INDIVIDUAL BLADE/ NO HARDWARE

7' RM Blade Kit BLADE.RM7-KT $214.98

*INCLUDES BLADES & BOLTS AND HARDWARE

RM BLADE BOLT KIT BOLT.BB10   (2 PER KIT) RM.BOLT-KT $48.31

*2 BOLTS, WASHERS, NUT PER KIT - 1-1/8"

Castlenut (Mowers and Slashers) 120050 RC-61, AGMATE $14.19

Output Seal RC 61 or Agmate SPECIFY OR SERIAL NUM $14.19

Standard Flow Motor TG MOTOR04 $1,597.42

High Flow Motor-Revised TK-Replaced previous MOTOR.REV.1 $4,238.73

Standard Flow Gearbox GB1.5 (AGMATE/GRIZZ) GB1.5 (Agmate) $362.18
High Flow Gearbox RC-61 / GRIZZ REPLAC GB6 (Omni RC-61, full time 1/15) $555.07

Gearbox/Motor Coupler COUPLER (AGMATE) COUPLER.RM.S (Coupler for Agmate gearbox) $218.60

Gearbox/Motor Coupler SL-SF-C (OMNI-RC-61) RM-SF-C (Coupler for Omni gearbox) $218.60

Tail Wheel Assembly TW-ASSY $679.94

*full assembly; includes deck brackets, wheel/hub, nuts and bolts, etc.

Wheel Yoke RM.YOKE $133.03

Adjustable Arm for wheel*adj arm only/no yoke ARM-ADJ $177.38

Wheel Assembly WHEEL.ASSY $135.99

*includes wheel and 4-bolt cast hub

Laminated Wheel WHEEL $70.65

*laminate wheel only-no hub

Laminate Wheel Hub WHEEL.HUB $65.42

Tailwheel Bearing 17937 WHEEL.HUB.BEARING

Tailwheel Bearing Seal 25678 WHEEL.HUB.BS

Wheel Axle Kit RM.AXLE BOLT02.5 $31.05

*Includes 1 x 8 bolt, spacers & 1" Nyloc nut

Lead Hose 102" length HOSE39 $134.51

Effective:  11-11-21





PLEASE PROVIDE MODEL & SERIAL NUMBER FOR PARTS

RTS8 PARTS PART # Retail

BLADE RTS8 BLADE 18.50 $318.47 What thickness or SN

RTS BLADE BOLTS 5/8" RTS8 BB KIT 5/8 $1.40 5/8" or 3/4" Bolts or SN

RTS BLADE BOLTS 3/4" RTS8 BB KIT 3/4 $1.77
HARDWIRE KIT RTS8 HARDWR $115.29
HAND CLICKER KIT ON/OFF 12V $185.44
RTS8 BIG CYL 4 X 8 CYL $559.41
RTS8 4X8 SEAL KIT 424-12743K $72.89
RTS8 SM CYL 2.5 X 6 CYL $343.06
RTS8 2.5X6 SEAL KIT 424-15730K $67.73
RTS8 HOSE KIT RTS8 HOSE KIT $284.25
RTS8 POLE RTS8 POLE $163.02
RTS8 COLLAR PIECE COLLAR ONLY $88.69
RTS8 SOLENOID $795.23
RTS8 WIRE HARNESS W/ TOGGLE $104.81

TT2200 PARTS PART # Retail
TT2200 BLADE TT2200 BLADE $314.00
TT2200 CYLINDER 4 X 8 CYL $559.41
TT2200 CYL SEAL 424-12743K $72.89

TJ2100 PARTS
TJ2100 CYLINDER 3 X 8 CYL 16.00 $370.88
TJ2100 CYL SEAL 424-14710K $49.24

GRAPPLE FORK PARTS
GF CYLINDER 2.5 X 6 CYL $343.06
GF CYL SEAL 424-15730K $67.73
GF TEETH (12-13 TOTAL) 1 X 1-1/4 AR400 $57.65 EACH TOOTH

GF HOSE KIT GF HOSE KIT $133.03

GRA-OPTION PARTS
GRA-OPTION CYL 3 X 6 CYL 16.00 $370.88
GRA-OP CYL SEAL 424-14710K $49.24
GRA-OP HOSE KIT GRA-OP HOSE KIT $58.64 $173.35
NOTE: CITRUS GRAPPLE - Cylinder is same size, yet different fitting style. SN needed if customer does not know style.

Effective: 11-11-21



SLASHER PARTS LIST VENDOR ITEM # DAYO PART # t Retail

SERIAL NUMBER NEEEDED FOR ALL ROTARY MOWER & SLASHER MOWERS...

6' Slasher Blade (old style) *round wheel style SL.6 $107.44

7' Slasher Blade (old style) *round wheel style SL.6 $107.44

Blade Kit (old style) 6' or 7'   Slasher BLADE.SL-KT.OLD $620.69

6' Slasher Blade SL6.RB2 BLADE.SL6 $91.62

6' Slasher Blade KIT With BB-27 Bolts BLADE.SL6-KT $557.43

6' Slasher Blade KIT With Square Shank Bolts   SS.BB $699.33

7' Slasher Blade SL.6 BLADE.SL7 $107.44

7' Slasher Blade KIT With BB-27 Bolts BLADE.SL7-KT $620.69

7' Slasher Blade KIT With Square Shank Bolts $762.59

Slasher SS.BB (individual) Square Shank Bolt Feb/March '16  New in: '16 $41.39

Slasher Blade Bolt Kit BB-27 or SS.BB Kit SPECIFY BOLT  SL-BB-KIT $190.53

OR SERIAL NUM

Slasher blade bolt (individ) BB-27 SL-BB  Prior: 2016 $41.39

Lock Washer 1 1/8" RM.LW $0.57

Lock Nut 1 1/8" RM.BN $5.81

RC-100 Gear Box $958.36

High Flow Motor-Revised TK-Replaced previous MOTOR.REV.1 $4,238.73

High Flow Gearbox RC-61 - GRIZZLY REPLC GB6 $555.07

Gearbox/Motor Coupler COUPLER-2 COUPLER.SL.H $218.60

Lead Hose 102" length HOSE39 $134.51

**price is each lead hose/not a set

Effective:  11-11-21

http://SS.BB


TREE TERMINATOR TREE SHEAR PARTS
PLEASE PROVIDE MODEL & SERIAL NUMBER FOR PARTS

SHEAR PARTS VENDOR ITEM # DAYO PART # RETAIL $

5X8 CYLINDER-14" 400-14910 CYL01HD $788.11

5x8 SEALKIT 424-14913K SEALKIT05W $73.91

Tie Rod Seal Kit (OLD) 424-16964K Prior 2001-2002 $85.03

14" BLADE TR.1033 BLADE12 (L/R) $369.53

14" SHEAR BLADE KIT TT4 Blade Kit $812.97

*KIT INCLUDES BLADES AND 3/4" BOLTS AND HARDWARE

TT4 Hose Kit Complete Hose Kit $195.11

14" BLADE BOLTS 3/4 x 3 A325 BOLT01 $1.96

14" BLADE BOLTS 3/4 X 6.5 (2002-curr) BOLT02 $5.50

14" BLADE BOLTS 3/4 X 7.5 (old style) BOLT02.1 $8.23

3/4" LOCK WASHER W.01 WASH01 $0.24

3/4" NUT (for blade) N.01 NUT01 $0.77

1-1/4 X 6 GR 8 BOLT BOLT03 $16.47

1-1/4 X 10 GR 5 BOLT BOLT04 $22.92

14" EXTENDED BLADE BLADE12-EXT $517.34

______________________________________________________________________________

6X10 CYLINDER-20" 400-15445 CYL03 $1,078.63

6X10 SEALKIT 424-15454 SEALKIT06W $103.47

20" BLADE TTG9718 BLADE20 (L/R) $529.17

20" SHEAR BLADE KIT TT8 Blade Kit $1,330.31

*INCLUDES BLADES AND 7/8" BOLTS AND HARDWARE

TT8 Hose Kit Complete Hose Kit $328.89

20" BLADE BOLTS 7/8 X 3 A325 BOLT05 $3.78

20" BLADE BOLTS 7/8 X 8 A325 BOLT06 $12.69

7/8" LOCK WASHER W.03 WASH03 $0.33

7/8" NUT n.03 NUT03 $1.37

______________________________________________________________________________

SPRAYER KIT SPK KIT SPK OPTION $815.93

SPRAYER PUMP 2135-561 SPRAY11 $248.33

SPRAYER NOZZLE SPR5500-X26 SPRAY01 $31.39

CHECK VALVE 4193APP-5-50 SPRAY02 $6.13

BRASS 90* 6471A-400TD SPRAY03 $20.34

WIRING HARNESS SPKWIREHARNES SPRAY05.5 $57.08

______________________________________________________________________________

FLUSH FACE CPLR-ML 805204005 COUPLERFF01 $52.14

FLUSH FACE CPLR-FEM 806804000 COUPLERFF02 $68.91

*1/2" PORT COUPERS

Effective:  11-11-21


	NOV-21_22 MOWER PARTS 
	NOV-21_22 RTS8 & MISC PARTS 
	NOV-21_22 SLASHER PARTS 
	NOV-21_22 TREE SHEAR PARTS 

